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(C)TERRAS Co.,Ltd.

90

6 ＝

38

③ 24 ＋ 3 × 3 ＝

＝ 6 －

⑤ 5

＝

⑥ 27 ÷ 3 ＋ 25 ÷

1問　5点計算のきまり①

② 16 －

点

3 ＝ 12 ＋

16 －

年グレード 4 ―

18

14

計算
エース

　
　
月
　
　
日

名
　
前

① 12 ＋ 2 ×

□にあてはまる数をかいて、計算しましょう。

2 ＝4 ÷ 2 ＝

④ 18 ÷ 3 －

24 ＋ 9 ＝

1

5 ＝ 9 ＋

× 8 ＋ 3 ×

1

7 ＝ 40 ＋

＝ 14

⑧ 100 × 2 － 5 ×

× 2 ＝ 2202 110＝⑦ （５０ ＋６０）×

1804 ＝ 200 － 20 ＝

7 ＝

36 －

⑨ （50 － 40） × 7 ＝ 10 × 70

6 ＝ 30

⑪ （25 ＋ 5） × 3 ＝

6 ＝⑩ 12 × 3 －

⑬ （100×

⑫ （9 ＋ 10 ÷ 5） × 5 ＝

÷7 －500） 200 ÷

21 ＝ 61

5

10 ＝

11 × 5 ＝ 55

30 × 3 ＝

10 ＝ 20



(C)TERRAS Co.,Ltd.

＋ 20 ＝ 60

＋37 ＝ 137

＋ 85 ＝ 145

＋72 ＝ 172

3 ＝ 60⑮ 57 ＋

100＋ 2 ＝37 ＋ 98⑭

くふうして、計算しましょう。

85 ＋

5 ＋ 95 ＝ 100⑯ 72 ＋

14 ＝ 4018 ＋ 2 ＋⑰ 26 ＋

（ 100

＝ 25 × 416

12 ＝

25 × 4

＋

×⑱ 25 ×

102 ×⑳

＝ 100 ×

＝

4

12 ＋

×⑲ 25 × 36 ＝

=

＝ 400

9 ＝ 100 × 9 ＝ 900

＝ 100 × 4

2

1224

2 ）× 12

× 12

1200 ＋ 24


